
§·¤æ§ü / Unit-I

1. ÂýÕ‹Ï·¤èØ Üð¹æçßçÏ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U?
§â·ð¤ Âý×é¹ ÿæð˜æ °ß¢ ©UgðàØæð´ ·¤æð â×Ûææ§°Ð

What do you mean by Management
Accounting ? Explain its main objectives and
scope.

¥Íßæ / OR

FD-2046
B.Com. (Part-III) Examination, 2022

Compulsory

Group - II

Paper - II

Management Accounting

Time : Three Hours] [Maximum Marks : 75
[Minimum Pass Marks : 25

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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çÙ`Ù ¥ÙéÂæÌæð´ ¥æñÚU Ùè¿ð Îè »Øè ¥‹Ø âê¿Ùæ¥æð´ âð
Åþð UçÇ¢U» ÌÍæ ÜæÖ-ãUæçÙ ¹æÌæ ¥æñÚU ç¿Å÷UÆUæ ÌñØæÚU
·¤èçÁ° Ñ
â·¤Ü ÜæÖ ¥ÙéÂæÌ wz'
àæéh ÜæÖ ¥ÙéÂæÌ w®'
SÅUæò·¤ ¥æßÌü ¥ÙéÂæÌ v®
àæéh ÜæÖ/¥¢àæ Âê¡Áè v/x
àæéh ßÍü/ÎæçØˆß ¥ÙéÂæÌ  v/w
SÍæ§ü â`Âçîæ/àæéh ßÍü z/y
SÍæ§ü â`Âçîæ/¿æÜê â`Âçîæ z/|
SÍæ§ü â`Âçîæ G v®,®®,®®®
¥ç‹Ì× SÅUæò·¤ G v,®®,®®®
With the following Ratios and further
informations given below, prepare a Trading and
Profit & Loss Account and Balance Sheet :
Gross Profit Ratio 25%
Net Profit Ratio 20%
Stock Turnover Ratio 10
Net Profit/Share Capital 1/3
Net worth/Liabilities Ratio 1/2
Fixed Assets/Net worth 5/4
Fixed Assets/Current Assets 5/7
Fixed Assets G 10,00,000
Closing Stock G 1,00,000

§·¤æ§ü / Unit-II

2. ÚUæð·¤Ç¸U ÂýßæãU çßßÚU‡æ ÌñØæÚU ·¤ÚUÙð ·¤è çßçÏ ·¤æ Âê‡æü
ß‡æüÙ ·¤èçÁ°Ð §â çßßÚU‡æ ·ð¤ @Øæ ©UÂØæð» ãñU¢?

( 2 )
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( 3 )

Explain fully the technique of preparing Cash
Flow Statement. What are the uses of this
statement ?

¥Íßæ / OR

çÙ`Ù çßßÚU‡æ âð ·¤æðá ÂýßæãU çßßÚU‡æ ÌñØæÚU ·¤èçÁ° Ñ

â×Ìæ °ß¢ ÎæçØˆß v.y.w®w® xv.x.w®wv â`Âçîæ v.y.w®w® xv.x.w®wv
(G) (G) (G) (G)

×êÜÏÙ |y,®®® |y,z®® Öêç× vz,®®® w®,®®®
Îèƒæü·¤æÜèÙ «¤‡æ vz,®®® ww,z®® ÖßÙ w®,®®® ww,z®®
ÜðÙÎæÚU v},®®® w®,z®® ×àæèÙÚUè y®,®®® yx,®®®

SÅUæò·¤ vw,z®® vv,®®®
ÎðÙÎæÚU v{,z®® v},w®®
ÚUæð·¤ÇU̧ x,®®® w,}®®

v,®|,®®® v,v|,z®® v,®|,®®® v,v|,z®®

ßáü ×ð´ Sßæ×è mæÚUæ çÙÁè ÂýØæð» ·ð¤ çÜ° G vz,®®® ·¤æ
¥æãUÚU‡æ ç·¤Øæ »ØæÐ ×àæèÙ ÂÚU NUæâ ·ð¤ ÂýæßÏæÙ ·¤æ
àæðá v.y.w®w® ·¤æð G vx,z®® ÌÍæ xv.x.w®wv ·¤æð
G v},®®® ÍæÐ
From the following particular prepare the
Fund Flow Statement :

Equity & Liability 1.4.2020 31.3.2021 Assets 1.4.2020 31.3.2021
(G) (G) (G) (G)

Capital 74,000 74500 Land 15,000 20,000
Long-term loan 15,000 22,500 Building 20,000 22,500
Creditors 18,000 20,500 Machinery 40,000 43,000

Stock 12,500 11,000
Debtors 16,500 18,200
Cash 3,000 2,800

1,07,000 1,17,500 1,07,000 1,17,500
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( 4 )

During the year drawing by the proprietor for
personal use amounted to G 15,000. Provision
for depreciation on machinery stood at
G 13,500 on 1.4.2020 and G 18,000 on
31.3.2021.

§·¤æ§ü / Unit-III

3. âè×æ‹Ì Üæ»Ì Üð¹æ¢·¤Ù @Øæ ãñU? âè×æ¢Ì Üæ»Ì
Üð¹æ·¢¤Ù Ì·¤Ùè·¤ ç·¤â Âý·¤æÚU ÂýÕ¢Ï ·ð¤ çÜ° °·¤
×ãUˆßÂê‡æü âãUæØ·¤ ãUæð â·¤Ìè ãñU?

What is Marginal Costing ? How can marginal
costing techniques be a valuable aid to
management ?

¥Íßæ / OR

¥Íßü çÜç×ÅðUÇU ×ð´ Üæ»Ì-×æ˜ææ-ÜæÖ â`Õ¢Ï ·¤æð
â×è·¤ÚU‡æ Y = G 3,00,000 + 0.7X ·ð¤ M¤Â ×ð´ ÚU¹æ
ÁæÌæ ãñU çÁâ×ð´ X çß·ý¤Ø ¥æ»× ·¤æ ¥æñÚU Y ·é¤Ü
Üæ»Ì ·¤æ ÂýçÌçÙçÏˆß ·¤ÚUÌæ ãñUÐ

çÙ`Ù ·¤æð ™ææÌ ·¤èçÁ° Ñ

(a) ¥¢àæÎæÙ/çß·ý¤Ø ¥ÙéÂæÌ

(b) â×-çß‘ÀðUÎ çÕ‹Îé

(c) G ~®,®®® ÜæÖ ¥çÁüÌ ·¤ÚUÙð ·ð¤ çÜØð çß·ý¤Ø
ÚUæçàæÐ

(d) çß·ý¤Ø ÚUæçàæ ÁÕ G x®,®®® ·¤è ãUæçÙ ãUæðÐ
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The cost-volume-profit relationship of a
Atharva Ltd. is described by equation
Y = G 3,00,000 + 0.7X in which X represents
sales revenue and Y represent the total cost :

Find out the following :

(a) C/S Ratio or P/V Ratio

(b) Break-even point

(c) Sales amount required to earn a profit
G 90,000.

(d) Sales amount when there is a loss of
G 30,000.

§·¤æ§ü / Unit-IV

4. ÕÁÅU, ÕÁÅUÙ ÌÍæ ÕÁÅUÚUè çÙØ‹˜æ‡æ ·¤æð ÂçÚUÖæçáÌ
·¤èçÁ°Ð °·¤ ÕÇ¸Uè çÙ×æü‡æè â¢SÍæ ×ð´ ÕÁÅUÚUè
çÙØ‹˜æ‡æ ·ð¤ ÜæÖ ÕÌæ§°Ð

Define Budget, Budgeting and Budgetary
control. Give the advantages of budgetary
control in a large manufacturing organization.

¥Íßæ / OR

°·¤ ·¤`ÂÙè °·¤ ÂýÖæçßÌ ©UˆÂæÎ ·¤æ çÙ×æü‡æ ·¤ÚUÌè
ãñUÐ ÂýçÌ §·¤æ§ü ¥Ùé×æçÙÌ Üæ»Ìð´ çÙ`Ù Âý·¤æÚU ãñU ¢ Ñ

·¤“æè âæ×»ýè G z, ÂýˆØÿæ Ÿæ× G y; ÂçÚUßÌüÙàæèÜ
ÃØØ G vÐ

( 5 )
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¥hü-ÂçÚUßÌüÙàæèÜ Üæ»Ìð´ ãñU ¢ Ñ

¥ÂýˆØÿæ âæ×»ýè G zx®, ¥ÂýˆØÿæ Ÿæ× G xz®,
¥ÙéÚUÿæ‡æ °ß¢ ×ÚU`×Ì G w|zÐ

¥hü ÂçÚUßÌüÙàæèÜ ÃØØæð´ ×ð´ àææç×Ü ÂçÚUßÌüÙàæèÜ
Üæ»Ìð´ ¥»ý Âý·¤æÚU ãñU ¢ Ñ

¥ÂýˆØÿæ âæ×»ýè G ®.®{, ¥ÂýˆØÿæ Ÿæ× G ®.v®,
¥ÙéÚUÿæ‡æ °ß¢ ×ÚU`×Ì G ®.vzÐ

SÍæ§ü Üæ»Ìð´ ãñU ¢ Ñ

·¤æÚU¹æÙæ Üæ»Ì G w,®®®, ÂýàææâÙ G x,®®®, çÕ·ý¤è
°ß¢ çßÌÚU‡æ G x,®®®Ð

©UÂØéü@Ì Üæ»Ìð´ z®® §·¤æ§Øæð´ ·¤æ ©UˆÂæÎÙ ·¤ÚUÌð ãéUØð
âæ×æ‹Ø ÿæ×Ìæ ·¤è z®' ·ð¤ çÜ° ãñUÐ çÕ·ý¤è ×êËØ
G x® ÂýçÌ §·¤æ§ü ãñUÐ

©UÂØéü@Ì ·¤è âãUæØÌæ âð {®', }®' ¥æñÚU v®®'
âæ×æ‹Ø ÿæ×Ìæ¥æð´ ·ð¤ çÜ° Üæð¿ÎæÚU ÕÁÅU ÕÙæ§°Ð

A company produces a standard product. The
estimated costs per unit are as follows :
Raw materials G 5, Direct Labour G 4,
Variable Overheads G 1.

The semi-variable costs are :
Indirect materials G 530, Indirect Labour
G 350, Maintenance and Repairs G 275.

( 6 )
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The variable costs per unit included in semi-
variable overheads are :
Indirect materials G 0.06, Indirect Labour
G 0.10, Maintenance and Repair G 0.15.

The fixed costs are :
Factory cost G 2,000, Administration G 3,000,
Selling and Distribution G 3,000.

The above costs are for 50% normal capacity
producting 500 units. The selling price is G 30
per unit.

Prepare Flexible budget for 60%, 80% and
100% normal capacities with the help of
above.

§·¤æ§ü / Unit-V

5. çß¿ÚU‡æ çßàÜðá‡æ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? çß¿ÚU‡æ
ç·¤ÌÙð Âý·¤æÚU ·ð¤ ãUæðÌð ãñ´ U?

What is variance analysis ? What are the types
of variance ?

¥Íßæ / OR

çÙ`ÙçÜç¹Ì çßßÚU‡æ âð »‡æÙæ ·¤èçÁ° Ñ

(i) âæ×»ýè Üæ»Ì çß¿ÚU‡æ

(ii) âæ×»ýè ×êËØ çß¿ÚU‡æ

(iii) âæ×»ýè ©UÂØæð» çß¿ÚU‡æ

( 7 )
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·ý¤Ø ·¤è »§ü âæ×»ýè ·¤è ×æ˜ææ y®®® §·¤æ§Øæ¡

·ý¤Ø ·¤è »§ü âæ×»ýè ·¤æ ×êËØ G vw,®®®

ÂýçÌ ÅUÙ ©UˆÂæÎÙ ·ð¤ çÜØð ¥æßàØ·¤
âæ×»ýè ·¤è Âý×æçÂÌ ×æ˜ææ x® §·¤æ§Øæ¡

âæ×»ýè ·¤æ Âý×æçÂÌ ×êËØ G w ÂýçÌ §·¤æ§ü

âæ×»ýè ·¤æ ÂýæÚUç`Ö·¤ SÅUæò·¤ àæê‹Ø

âæ×»ýè ·¤æ ¥ç‹Ì× SÅUæò·¤ vz®® §·¤æ§Øæ¡

¥ßçÏ ×ð´ ©UˆÂæÎÙ }® ÅUÙ

From the following particular, compute :

(i) Material Cost Variance

(ii) Material Price Variance

(iii) Material Usage Variance

Quantity of materials purchased 4000 units

Value of materials purchased G 12,000

Standard Quantity of material
required per ton of output 30 units

Standard Rate of material G 2 per unit

Opening stock of material Nil

Closing stock of material 1500 units

Output during the period 80 tons
———

( 8 )
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